S.S.C–Mathematics. (Guess Paper)

Paper – II       

Time: ½ Hr.



Part-B




Marks: 15

Name of the Student ………………………………………………….. Roll No………


NOTE:-
a) Each question carries ½ marks.



 b) Answers are to be written in the question paper only.



 c) All questions are to be answered.

 d) Marks will not be given for over written, re-written or erased answers.

      I)     Write the CAPITAL LETTERS showing the answer in the brackets provided against each question.
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2. AB and CD are two chords of a same circle which are equidistance from its 

centre then ..........
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A) 
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B) 
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D) AB = CD

3. In an ungrouped data the lowest score is 18 and the range is 32 then the 

highest score is …… 








(
)

A) 32


B) 18


C) 50


D) 60
4. If Mode = 76.7 and Mean = 72.5 then the Median is ………



(
)

A) 73.9


B) 73.7


C) 73.5

D) 73.3


5. If 
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 and c = 8  then the Mode of the data  = ……
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A) 9.5


B) 10.5


C) 11.5

D) 12.5


6. The line parallel to 
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7. A point on y-axis is 








(
)

A) (1, 1)

B) (0, 2)

C) (3, 0)

D)(3, 3)
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A) 
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B) cosec
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[image: image19.wmf]q



D) sin
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A) cos
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B) sin
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C)  - cos
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D)  - sin
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10.  Vacuum tubes are present in  ……………generation computers 


(
)

A) First


B) Second

C) Third

D) Fourth

[image: image26.wmf]II) Fill in the blanks with suitable answers.
11. The circum centre of the right angle triangle is ……………………………………....

12. If ‘a’ and ‘b’ are the intercepts made by the line on the co-ordinate axes then the area of the triangle formed by the line with the co-ordinate axes is ……………..…….

13. 
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 makes equal intercepts on the co-ordinate axes then ..………….

14. Father of statistics ……………………………………………..
15. 
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 then the Matrix A is called ………………………………………..

16. 
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[image: image30.wmf]T

A

=

………………………………………………….

17. If 
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18. If 
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19. Expand BASIC …………………………………………………

20. Father of computers …………………………………………….

III) For the following questions under Group-A , choose the correct answers from the master list (Group-B) and write the letter of the correct answer in the brackets provided against each item.


GROUP – A





GROUP - B
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B) A
23. Formula to find the Median of grouped data ……
(
)
C) does not exists
24. If 
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D) 
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25. Two circles of radii ‘R’ and ‘r’ touch internally then 
 (
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E) -1
F) 1
G) 
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H) 
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26. Slope of the line 
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is ….
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I) C.P.U
27. Slope of the line 
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J) Class Interval
28. In histogram the width of the 
rectangles represents ….
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K) 
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29. In a circle AB and CD are two chords

 intersects at ‘O’ then  ….



(
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L) 
[image: image45.wmf]1
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30. All parts of computer are controlled by …

(
)
M) frequency
N) 
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O) 
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P) Memory unit
BEST OF LUCK
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